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Monthly averaged wind velocity by MF radar at Tromsoe for June 2000

North East

mean sigma = 21.367
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mean sigma = 20.410
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mean sigma = 19.320
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mean sigma = 18.367
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mean sigma = 17.890
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mean sigma = 16.260
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mean sigma = 13.371
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Monthly averaged wind velocity by MF radar at Tromsoe for June 2000

North East

mean sigma = 11.833
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mean sigma = 10.717

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 11.794

0    4    8    12    16    20    0
-100

-50

0

50

100

73km

mean sigma = 9.095
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mean sigma = 7.732
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mean sigma = 6.905
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